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02 plZtFNE X 4,800 0 4,800
OX=E M2 & 4,800
< 1,440
Al 3,360
402 212t X 20| & 25,140 5,200 19,940
< 7,542
Al 17,598
01 RIZERt2EX 25,140 2,200 22,940
OLREL RFS HFAY 6,900
= 2,070
Al 4,830
ogiale AEXAAEY 600
< 180
Al 420
OL3e2 Esha=a ZAXNJAY 5,640
< 1,692
Al 3,948
OJtsdatd o 12,000
< 3,600
Al 8,400
StNRFSA 160,588 111,953 48,635
J| 96,356
< 12,843
Al 51,389




2N
X ZH -
L= B

el

- - _ =]
SN EH . (3H) - HEAY - B %Ei HDS2
402 QI2H X201 A 160,588 111,953 48,635
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02 QI2FCHEH AL B 46,520 41,720 4,800
OS0tA MArEY AME XA
60,000& * 5005 30,000
OSt M XS AS 10,000& * 7725 7,720
OSEXNIAY 8,000& * 5005 4,000
Oclsaxdg XIAAY 12,0003 * 4005 4,800
HMI ol =XKH 4,566 4,860 N 294
= 2,283
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Al 1,827
307 QI2t0| ™ 4,566 4,860 N 294
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= 456
Al 1,827
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= 164,425
< 15,685
Al 543,130
22 X4 2e 235,207 236, 866 A 1,659
101 @14 Hl 134,297 129,916 4,381
04 JIZHHZ2XREE S 134,297 129,916 4,381
OZZ 242 224 E= 43,938
=Jl2g 38,8803 * 16Y = 20 37,325
oFF 38,8803 * 16 * 2« 3,733
o ZHAIH| 3,000& = 16Y * 20 2,880
OJtz2stet =4 - 2el 22X E= 43,938
SPIE=| 38,8803 * 16Y = 20 37,325
ocxgg 38,8803 * 16Y = 2¢ 3,733
o 2HAlH| 3,000 * 169 » 20 2,880
OALZ& &2 22X B 43,938
=llag 38,880& * 169 x 20 37,325
oFFd 38,8803 * 169 = 2¢ 3,733
o 2HAlH| 3,000 = 16 = 20 2,880
OHHZH xdae 22A B 2,483
cJIE2= 38,8803 * 5% * 5L 1,944
ocxgd 38,8803 * 5% + 1« 389
o 2HAlH| 3,000& = 5% = 5 150
201 LBt2E| 960 0 960
02 2322l 960 0 960
OHHHIH MRS 80,000& * 12& 960
206 M= Hl 95,000 102,000 AT7,000
01 X2 bl 95,000 102,000 7,000
OHEZ ¥ 500& = 50,0002 25,000
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OoZZae gz 330,000& = 15CH 4,950
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101 1A Hl 42,502 75,149 A 32,647
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S ==
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300,000& = 10CH 3,000
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405 TtabH S| 1,500 1,500 0
01 AL EZSFH S 1,500 1,500 0
Ozdzel &H 7¢ 500,000& * 3CH 1,500
2 24 22 86,585 86,958 A 373
101 @124 dl 35,753 35,226 527
4 D12t Z2XRHEES 35,753 35,226 527
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Al JHIAS A 55,706 97,340 N41,634




<

n0

Kio

Hl w

A 39,596

A 39,596

A 200

A 200

A 870

H3r
Wikd
RIS

92,582

92,582

560

560

2,030

Off &t 24

33,425

(i

H

6,685
15,596

Al

52,986
31,793

fi

H

6,357
14,836
52,986

Al

13,226
7,936

fi

1,587
3,703
13,308
7,985

H

Al

fir

H

1,596
3,727
13,226
7,936

Al

i

1,587
3,703

13,226
7,936

I

Al

fir

1,587
3,703

Al

360
216

fi

44
100
360

H

90

54
1

U

25
90

54
1

U

25
90

54
1

U

25
90

54
1

W

25
,160

Al

1

696

i

140
324

H

Al

Falle]

101

04 DItNZ22XsSE*

80
0p
J
oll

el

1
ok

01 At

Rl
10H
Ol
=

&l
o

fl
0t
Ol
=

cl &

A2

Al

(]

ro
<0
H

1J
oll




<

n0

Kio

Hl w

A 870

A 968

A 968

3,500

3,500

3,500

60,000

60,000

H3r
Wikd
RIS

2,030

2,168

2,168

0l &t o

,160
290

1

174

rr

35

H

290

174

fi

35

H

290

174

mr

35

H

290

174

i

35

H

1,200

720

i

144
336
1,200

H

Al

300

180

rr

36
84
300

H

180

fir

36
84
300

H

180

rr

36
84
300

H

180

i

36
84
3,500

H

3,500
3,500

3,500

60,000
30,000

fir

H

9,000
21,000
60,000

Al

401 AIEHIZ 2 I

03 Al 2 CHHI

O=di&t 20

2 S0yl

2tel

OZA=X

20

30
]3]
1)
oll

01 At2 2t 2l bl

X0
K4
<
El
or

401 AIEBIZ S CHYI




SN STUED
a9 FMY L
R TAI=sX 2l (2 &HH)
- _ _ RE]
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01 Al& H| 59,460 0 59,460
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= 29,730
& 8,919
Al 20,811
03 AlE 201 | 540 0 540
OstnE X4 208l 60,000,0002 * 0.9/100 540
= 270
= 81
Al 189
=MIZ2ANE sMHB2EXH 101,000 0 101,000
= 101,000
201 et | 1,000 0 1,000
= 1,000
01 AP 2t 2] H| 1,000 0 1,000
OsMIIAANYE E22 MH 1,000
= 1,000
401 A& HI L 204 HI 100,000 0 100,000
= 100,000
01 Al&H| 99,100 0 99, 100
O=s4Md=3AIY 99,100
= 99,100
03 Al 20| 900 0 900
OSA=3IAIE 20| 900
= 900
MBMEF IR B2l 826,322 916,674 N 90,352
= 537,261
o= 100,818
Al 188,243
AHES AL 241,614 284,141 N42 527
= 168,356
o=} 36,076
Al 37,182
308 XX SHAHSOIH 1,106 30, 185 A 29,079
05 RRSHH2AESZ 1,106 30, 185 N 29,079
OAEALS 1,106
401 AlEHIZL 2 0HY| 240,508 253,956 N 13,448
= 168,356
== 36,076
Al 36,076
01 Al&H| 233,823 247,133 A 13,310
OAPE Al A 233,823
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Al 743
03 AlE 201 Y| 1,731 1,880 A 149
OArEre AlE 20| 1,731
= 1,211
= 260
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TE A 300,698 218,515 82,183
= 191,220
= 32,843
Al 76,635
401 AlEHIZL 2 0HY| 90,338 93,087 N2,749
= 48,526
& 11,860
Al 29,952
01 Al& H| 75,809 81,372 AN5,563
O2Ue 2o X2 (5ha) 57,809
= 28,905
== 8,671
Al 20,233
O ALY &3 H|(80ha) 18,000
= 9,720
= 1,800
Al 6,480
02 2elbl 12,348 9,879 2,469
OXAtY 22l (80ha) 12,348
= 8,644
== 1,111
Al 2,593
03 Al&E 201 Y| 2,181 1,836 345
O AMY 204d] 2,181
= 1,257
& 278
Al 646
402 12t X0l & 210,360 125,428 84,932
= 142,694
= 20,983
Al 46,683
01 Q228 X 210,360 125,428 84,932
OZX& ALY (80ha) 210,360
= 142,694
= 20,983
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= 699
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01 A& HI 1,398 0 1,398
OagagANe =y 1,398
2 699
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Al 489
AtEY X CHE 2 St 729,650 864,928 A 135,278
= 146,556
= 132,430
Al 450,664
MEoE 23 141,660 125,948 15,712
101 1A dl 116,640 98,928 17,712
M4 DIt ZEXNSES 116,640 98,928 17,712
OUtE=rRSZAE 38,880& = 30 * 100 116,640
201 Yute | 23,020 23,020 0
01 AL 22l H| 17,840 17,840 0
OL=0eEES M= 10,240
Odt=2&lst=s 70,000& = 409 2,800
Ot 22xstg otAM gt 50,000& = 409 2,000
Od =22 HA2EN =4
7,000 * 4% = 100 2,800
02 =224l 5,180 5,180 0
OL =R ZAl FtHet 813
10,000& * 604 + 12& 720
OR4d=2 &It =22 (5500) 460
OR&I| X2l 50,000& = 10CH 500
Ot EZAE SA2el 50,000 » 100H & 500
O&t=&lstxed |X2el
300,000& = 23| = 50 3,000
203 YR =2t 2,000 4,000 A2,000
03 A E=ZARET Y| 2,000 4,000 ~2,000
OMSYXIH =& 2,000
&= X CH 24 587,990 738,980 A 150,990
= 146,556
< 132,430
Al 309,004
101 1A dl 320,190 313,190 7,000
= 84,396
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Al 165,056
04 JIZHHZ22XRHEE S 320,190 313,190 7,000
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